
Crop appeared 21-8-2005



Crop meaning: THE EYE – THE SUN – THE ELLIPSE
It means: watch out people – be aware

SUN in the center – Ellipse on the external side 



Another Crop appeared 13-8-2005 - 8 DAYS EARLIER
Let’s start here



Need to find the meaning and the references
1- 8 days earlier: 8 the number of RESURRECTION so
2- the internal exagonal star semms to be the NEW Israel of the REVELATION BOOK:

Chapter 21 1 Then I saw a new heaven and a new earth. The former heaven and the former earth had passed 
away, and the sea was no more. 2 I also saw the holy city, a new Jerusalem, 
3 coming down out of heaven from God, prepared as a bride adorned for her husband. 

3- The CROP talks about TIME: two clues here
3.1 – the internal circle is rotating clockwise in respect to the external part- see
mismatching between internal and external rays [of 3 rays]. The number of rays is 10 per each 
portion either internal or external
3.2 – the squares made of 8 segments are also rotating clockwise. It is a SOLE type of SQUARE
Rotating 16 times. Now we need a reference to start the DECODING

13-8-2005
13-8-2005



13-8-2005

The reference to start the DECODING is the “11th” SMALL DOT here disconnected from
the 10 rays.  See the SMALL GAP
Three indications here:
1- pointing to a SPECIFIC SQUARE that we call SQUARE 1
2- it is underneath the 8th line: 8 RESURRECTION
3 – 8th LINE � 8-9-10 � THE THREE LINES INDICATING THE TRHEE DAYS OF DARKNESS

BEFORE RESURRECTION. So maybe it is indicating the day of resurrection. In this case
We are on the Graces of Lord. From other crops we know the last Friday as the 21-7-2017
Resurrection should be from the 23rd to the 24th
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Lets’ suppose the CROP date is a REFERENCE too, we put it in a Excel spreadsheet and find that:

23-7-2017 – SUNDAY  is 4362 days LATER
24-7-2017 – MONDAY is 4363 days LATER
We have:
1 - 4 x 18 external RAYS (indicating a NEW SUN, a New light). External means more important
2 – Sixteen SQUARES of 8 segments - The reference indicates where to start the count from
3 – Six particular squares are indicated by the internal six pointed star exactly to their center

4 – four internal 10 RAY patterns
total = 40

5 – each pattern points to a particular 
SQUARE (see white arrow)

6 – the same pattern on its dimension
complies also the two beside SQUARES

7 – Six internal 10 RAYS pattern 
(except 1 of eleven and one gapped 
for the reference) total = 60 or 61

8 – a STAR made of SIX points
9 – 6 internal dots

TIMING in DAYS:

18 x 4 = 72 �Hundreds of days = 72[00]
More internally
8+24+48+72+88+112 = 352[0] tenth of days

7200-3520= 3680
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5 – each pattern points to a particular SQUARE (see white arrow) 32+64+96+128= 320

3680 + 320 = 4000

Then we make the sum of ALL the 16 square values:

8+16+24+32+40+48+56+64+80+88+96+104+112+120+128= 1088

Now we make the sum of the three VALUES pointed by the FOUR 10 RAYS patterns:

(120+128+8)+(24+32+40)+(56+64+72)+(88+96+104)= 832

1088-832=256

4000+256 = 4256

Need to add: 40 rays + 60 or 61 rays+

the 6 internal points

4256+40+60/61+6 = 

4362 or 

4363 days

Just think it over, but if you don’t like it 

we can proceede in a different way:

Let’s see a second chance
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TIMING in DAYS:

18,18 x 2 = 36,36 �
Hundreds of days = 36[36]=3636

More internally
8+24+48+72+88+112 = 352 days

We forget the 40ths because we consider
Not in phase to the 60ths, but they point as
Arrows to the external 4 squares so:

3636+352+60/61= 4048/4049

4048/49+(32+64+96+128)= 4368/4369

4368/4369 – 6 = 4362/4363

4362 or 

4363 days
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second chance to RESURRECTION DAY

MAYBE THERE IS A THIRD SOLUTION for the number of days, but we leave it. Else we go 
forward to find out if this crop gives another clue for something else



1800 x 4= 7200

8+24+48+72+88+112 = 3520

7200-3520= 3680

32+64+96+128= 320

3680 +320 = 4000

4000+60x10-40x10= 4200

4200+24-6=4218

Le’t take out the VERY SMALL

reference and the 11th point in 

one of the 60 ths. Consider these 

For the small dimensions 

as decimals

4218-0,1-0,1 = 4217,8 (years)
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Second Sun ORBIT



The crop appeared 21-8-2005 is pointing 
the VERY CENTER

of the crop made 12 days before on 9-8-2005

Twelve is the reference of the
new 12 “nations” of the
REVELATIONS BOOK:

Chapter 21:
12 - It had a massive, high wall, with 
twelve gates where 
twelve angels were stationed 
and on which names were inscribed, 
(the names) of the
twelve tribes of the Israelites. 



9-8-2005 CROP double meaning

SUN

EARTH’s

4 seasons

Internal part of a 

mechanical watch12

3

6

9

The 4 main hours



9-8-2005 CROP: see the balancer, the spring and the
anchor and the wheel, plus remaining stuff 

This crop clearly indicates: SUN & Earth have their own HOURS
already COUNTED 



But let’s swap to the Crop appeared 16-8-2014
This has a similarity to the 21-8-2005 crop

and explains the 4217,8 years Second Sun Orbit as per the Holy Bible says and
the scientific calculation confirms using the 4217,8 years orbit towards

the 21-7-2017 Second Sun arrival/crash towards our SUN

the meanings: THE EYE – THE SUN – THE ELLIPSE



Explanation of the 16-8-2014 CROP

The internal eye states the 
object of the research: THE 
ORBIT, as internally 
there is a PUPIL that 
simulate a SUN. So an 
ORBIT and a SUN.
The reference is outside the 
big circle: an external far 
round object: we suppose 
the SECOND SUN. This 
reference gives also a way 
of counting.

At the centre we have FOUR 90°
semicircles that have 4 angles, and the 
meaning is 4 Millenium, or: the 
SEMICIRCLES take 1/4 of the entire circle, 
and the 4 angles means that  the number 
considered must be set at the 4th cipher 
from the right: Mxxx = 4.000



Then we have 24 triangles 
pointing the centre, so in 
fase with the millenium
Triangles have 3 angles or 
3 sides, so 3rd cipher from 
the right:
xDxx = x24x
PARTIAL TOTAL 4.240 
years

then we have the 24 small wishbones that are 
counterphase (summit against summit) the 
external triangles. This has 2 meanings:
1 - SMALLER than the triangles means it is the 
3rd cipher from the left 
2 - COUNTERPHASE means MUST be 
SUBCRACTED 

xxAx = xx24 - PARTIAL TOTAL 4.216 years



BE AWARE: DECODING is ALWAYS thru GEOMETRY
Now we have to add (because in phase towards the external triangles) the 12 yellow 
wishbones inside more smaller, that means the 4th cipher from the left 

xxxA = xxx1,2

PARTIAL TOTAL 4.216 + 1,2 = 4217,2 

we did add only half of them because they are on the centerline and devided by 
two - But even if we should add all of them (24) we would have:
PARTIAL TOTAL 4.216 + 2,4 = 4218,4 years

the mean (media) found between the two results is (4217,2 + 4218,4 )/2:

4217,8 YEARS

Explanation of the 16-8-2014 CROP



Explanation of the 16-8-2014 CROP

THE CENTRAL PART of the EYE supply the ASTRONOMIC UNITIES of the ORBIT
The wishbones indicates the hundreds of years and at last there is a wishbone by itself that means 

that it has a different meaning: a UNITY to add. So 260 + 1

the relationship between 261 ASTRONOMIC UNITIES correspond to 4216,6 years orbit.
From the 3rd Keplero's LAW radius in A.U.= 261 -----> 261^3 = 17779581 

MUST COMPLY WITH = YEARS^2

Square root of 17779581 = 4216, 6 Years
a more accurate result is given by the real YEARS computed before:

4217,8 years



Explanation of the 16-8-2014 CROP on the remaining days

External triangles: 24 x 3 sides
= 72

Internal Quadrilat: 24 x 4 sides 
+ 24 x 4 sides = 192

72 +192 = 264

264 x 4 internal semicircles 
(milleniums)= 1056 

1056 + 26 (one time only- see unity) 

= 1082

1082 – (4 x 3 sides to be subtracted)= 1070

16-8-2014 + 1070 days = 21-7-2017



3 x 18 quadrilaters

1 x 18 TRIANGLES
2

1

18
18 1

1
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18 11

Returning to Crop appeared 21-8-2005

Please note difference on the shapes 
The internal circonference is made of 18 triangles, to be considered differently



Crop appeared 21-8-2005
Please note the 2 EXTERNAL caps give an important indication: Let’s draw the yellow lines from 

the external shapes and find that 2 internal TRIANGLES remain included 2 times (see ZOOMing 

#1 & 2 in red), and a NEW SHAPING APPEARS deviding the FIGURE in 4 parts

Reconfiguring the following 2 sequences: 1468-9 and 531-1. We consider triangles as DECIMALS
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1st SOLUTION gives the Second Sun Orbit in YEARS: 

Reconfiguring the following 2 sequences: 1468,9 and 531,1

First part: 1468,9 x 2 = 2937,8  then  531,1 x 2 = 1062,2 � 2937,8 +1062,2 = 4000

Second Part: 3 circles of 18 of 4 sides = 3 x 18 x 4 = 216

the internal triangles ONLY as DECIMALS: 18 as decimal is 1,8 � 4000 + 216 + 1,8 = 4217,8

2
18

18 1
118

1

1

4

6

8

2

1
11

5

3
18

1

1

1

8

1468,9 x 2 = 2937,8

531,1 x 2 = 1062,2

2937,8+1062,2 = 4000

4000+216= Partial 4216
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2nd SOLUTION gives the number of days remaining starting from 21-8-2005: 4352 days
First part: 1468,9 x 2 = 2937,8  then  531,1 x 2 = 1062,2 � 2937,8 +1062,2 = 4000

Second Part: we consider the FULL and the EMPTIES on the 3 circles of 18ths x 4 sides

FULL 18 x 3 circles x 4 sides + EMPTIES 18 x 2 circles x 4 sides = 360 � 4000 + 360 = 4360 

The decimals to be subtracted seems to be the small internal empties quadrilaterals (roughly indicated by the white 

circle) 18 x 4 = 72 as decimals �7,2  plus the 2 internal triangles (2 x 3 = 6 as decimals � 0,6)

excluding the other 16 triangles resulting by the SHAPES � 4360 – 7,2 – 0,6 = 4352,2
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In the same day 21-8-2005 CROP

The BIG REFERENCE is: 6 (all exagones)

7 exagones of 6 sides � 7 x 6 = 42 [00]

24 small exagone 4200+24 = 4224

Let’s subtract the BIG REFERENCE: 6

4218 (years)
Note: if we subtract the BIG reference on the unities, we should subtact the SMALL REFERENCE on the decimals

Let’s subtract the SMALL REFERENCE: 2

4217,8 years (Second Sun Orbit)
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6  BIG exagones of 6 sides � 6 x 6 = 36[00]

12 small EXTERNAL exagones 12 X 6= 72[0 ] � 4320

12 small INTERNAL exagones 12 x 6 = 72 � 4392

1 BIG INTERNAL exagone � 60

2 small INTERNAL exagones (the small reference)� 20

60-20 = 40

Total = 4392 – 60 = 4352 days to 21-7-2017
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By the end we have three crops that confirm the same results:

13-8-2005 CROP gives:

1 - Time left 4362/3 days starting from the CROP DATE to the
2 – resurrection date: from Sunday 23-7-2017 to Monday 24
3 – Second Sun ORBIT � 4217,8 years (as per Holy Bible)

21-8-2005 TWO CROPS give same results:

1 - Time left 4352 days starting from the CROP DATE so
2 - final date 21-7-2017
3 – Second Sun ORBIT � 4217,8 years (as per Holy Bible)

16-8-2014 CROP gives:

1 - Time left 1070 days starting from the CROP DATE so 
2 - final date 21-7-2017
3 – Second Sun ORBIT � 4217,8 years (as per Holy Bible)



Geometrycally speaking 
let’s see it this way:
1 – Earth & SUN has counted 

hours and days
2 – we go to Resurrection day

Time is continuously rotating
Clockwise. PREPARE YOURSELF

3 – Second Sun is arriving
pointing our SUN

9-8-2005

13-8-2005

21-8-2005

21-8-2005



9-8-2005 CROP CIRCLE
THE ELEVATION OF THE HOLY BODY and SACRED CHALICE in the holy Mass



Through him,
with him,

in him,
in the unity of the Holy Spirit,
all glory and honor is yours,

almighty Father,
for ever and ever.



9-8-2005 CROP CIRCLE
CHRIST AT THE VERY CENTER EVER – JESUS CHRIST SECOND RETURN

THE RED CROSS IN THE SKY: THE ADVISE OF THE GREAT WARNING



9-8-2005 CROP CIRCLE
4364 DAYS TO 21-7-2017 AND        4023 DAYS TO 14-8-2016 (THE GREAT WARNING) 

341 DAYS STARTING FROM 14-8-2016 to 21-7-2017 but
340 DAYS STARTING FROM 14-8-2016 to 20-7-2017 (the LAST HOLY THURSDAY the LAST HOLY DINNER)



9-8-2005 CROP CIRCLE
The binary code

Number chosen by GOD the Father are identical if decoded right to left or left to right
To help us and not confuse when searching for the RERFERENCEs

Sum the weights of the BITS when these are ON, you will find the numbers 14 –22-27

1   +  2   +  4  + 8 +16

16
+
8
+

4
+
2
+

1



9-8-2005 CROP CIRCLE
The REFERENCES (ruling numbers) UP TO HERE

2 and 22 (repeated eight times)

1   +  2   +  4  + 8 +16
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+
8
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4
+
2
+

1
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9-8-2005 CROP CIRCLE 
the OUTSIDE references: 20 and 8 � 20 quadrilaters made of 8 segments 

ALWAYS FACING THE SAME WAY TO THE CENTER
8+8 the RAYS above the HOLY BODY

Here we can suppose a date for the CROSS appearance: 2016   

48

88

128

2 milleniums + 8+8 years



From these CROPS we already had the GREAT WARNING date: 
14-8-2016 and in the 9-8-2005 CROP the number 14 appears 4 

times and the number 8 appears 20+2 times

We also have 22-14 = 8

But this as premise let’s see what happens



8+16+24+32+40+48+56+64+80+88+96+104+112+120+128+256 +512+1024 +2048= 4928

The sum of the values of the 4 quadrilaterals of the CROSS 8+48+88+128 = 272

9-8-2005 CROP CIRCLE 
The countings: let’s sum the values of all the 20 quadrilaterals

we multiply 272 by 

“2” 1st ruling number

272 x 2 = 544

4928 – 544 = 4384

We subtract the second 

ruling number “20”

4384 - 20 = 4364 days to

21-7-2017

Now, let’s find out

else more
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9-8-2005 CROP CIRCLE

The CENTER MESSAGE refers to the EUCHARIST, 
The day before the 21-7-2017 will be the last HOLY THURSDAY (20-7-2017)

The LAST HOLY DINNER and the 14-8-2016 day is 340 days before
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Let’s sum the 
22+14+22+27 per each 
¼ circle and find 

85

On the full CRICLE is 
85 x 4= 340

So 

4364-1-340 = 4023 

days before 21-7-2017

The date of the GREAT 
WARNING seems to be 
confirmed at:

14-8-2016



9-8-2005 CROP CIRCLE

4588-340x2 =4248

let’s sum two ruling 
numbers 22+8= 30

4248 – 30 = 4218

Internally the 2s are 
decimals

4217,8 years of the 
Second Sun Orbit

See also
The similarity of the 
second sun spot in 

other crops

27-4-1994

FROM the EXTERNAL to the inside in REDUCTION

8+16+24+32+40+48+56+64+80+88+96+104+112+120+128+256 +512+1024 +2048= 4928
Let’s sum the 22+14+22+27 on the full CRICLE and get 85 x 4= 340
Multiply by the ruling number 2   � 680 
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9-8-2005 CROP CIRCLE

4588-340x2 =4248

let’s sum two ruling 
numbers 22+8= 30

4248 – 30 = 4218

Internally the 2s are 
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4217,8 years of the 
Second Sun Orbit
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second sun spot in 

other crops
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CROPS never lies because made by Angels sent by GOD the FATHER
On the “END of TIMES”

If they lie, we’re wrong in decoding or the CROPS are FALSE

If you still think they are made by Aliens, never you thought that 
they could visualize themselves and direclty let you know what is 

happening? Why they don’t? Simple answer: they do not exist

All the websites talking about Aliens channelling are FALSE and 
driven by masonry to fool you.

Aliens does not exist. If you will ever see them, just ask them 
what is happening, and please bring them here

Up to now, all these fools hasn’t given a solution that stands up.
Prepare yourself. 

With the times been
If you wait time

The “END of TIMES” will hit you down the hell
Keep PRAYING the HOLY Mother and 

convert your soul to Jesus Son of God that in a glance will be here
For the Great WARNING. My duty is to advise you, not to save you


